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Note : Question no. 1 is compulsory. Attempt any four
questions from question nos. 2 to 6. Use well labelled
diagrams to support your answers wherever necessary.

1. (a) Fillin the blanks with appropriate word : 5

(i) muscles are present in the wall
of stomach and intestine

(i) Plant cells that provide structural
support and have cell walls thickend
at the corners are called

(i) The organelle responsible for
intracellular digestion is called

(iv) microscope is used to observe
the cellular organellesina living cell.

(v) Elastic is found in the external

ear of mammals.
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(b) Match the terms given under column A 5
with those given under column B :

Column A Column B
(a) Plasmids (i) Zwitterion
(b) Cyclic AMP (i) Acidic pH
(c) Black coffee (iii) Fatty acid
(d) Amino acid (iv) ATP

() Prostaglandin (v) Bacteria

2.  Write short notes on any two : 2x5=10

(a) Stanley - Miller’s experiment with spark-
discharge apparatus.

(b) Structure and function of Golgi bodies.

(c) Enzyme inhibitors.

3.  Indicate whether the following statements are true
or false ; give reasons for your answer ( Attempt
any five ) : 4 2x5=10

(a) Phospholipids are the major lipids in
membranes.

(b) Genetic code is degenerate.

(c) Casein is a defence protein and collagen is
a regulatory protein.

(d) 3H Uridine is used to study RNA
metabolism.
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() The resolution power of a microscope can
be improved by using UV light and electro
magnetic lenses.

(f) The osmotic pressure of a solution is
dependent on the nature of the solute
particles.

4. (a) Explain the importance of nuclear 5
membrane with the help of a suitable
diagram. A
(b) Discuss the role of cyclic AMP as a second 5
messenger.

5. (a) What.are neurotransmitters ? Explain their 5
role in coordinating various activities of cells
in higher animals with the help of suitable
diagram.

(b) Discuss the role of spindle in cell-division. 5

6. (a) Explain the destructive features of 5
cytokinesis in plant cells.

(b)  Write short note on plesmodesmate. 5
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